The Irish House Food Beverages Pvt. Ltd.

1 Rashid Mansion, Worli Point, Mumbai 400018.

PURCHASE ORDER

| PO No # | IRISH/PO/24-25/000003 | Order Date : | 24 | | | |
|-------------------|---|----------------------------|----------|-----------------------|--------------------------------|---------------------|
| The above no mu | ist appear on all challans, invoices and o PO. | all documents relating | to this | Order Date : | | |
| | 10. | | | Quotation/PI Date: | Mail | |
| | | | | Department: | IRISH | / |
| | Uniforms Guru | | | | The Irish House Food & E | Severages Pvt ltd |
| | A 209,Hind Saurastra Ind.Estate, | | | Delivery | Unit : | |
| To: | Andheri Kurla Road Marol, | | | Address : | | |
| | (Near Marol Naka Metro Station) | | | | | |
| Tal | Andheri East, Mumbai 400059 9699247759 | | | Tel : | | |
| _ | 3033247733 | | | _ | | |
| Fax: | Ma Dania | | | Fax : Contact | | |
| | Ms. Pooja | | | Person · | | |
| | 9699247759 | | | Mobile : | | |
| Email: | sales@uniformsguru.com | | | Email : | | |
| GST NO | 27AREPA2226 | M2ZY | | GST NO | 27AAFCT495 | 9H1ZW |
| TIN NO | | | | TIN NO | | |
| PAN NO | | | | PAN NO | 959H | |
| We are pleased to | confirm to supply the material as per deta | ils given below. Please ar | range to | supply as per the | e delivery period and the teri | ns mentioned below. |
| Sr.no | Description | | UOM | QTY | Rate | Amount |
| 1 | WHITE TSHIRT COLLAR STYLE 220 GSM WITH PRINTING | | Nos | 30 | ₹ 400.00 | ₹ 12,000.00 |
| 2 | GREEN TSHIRT COLLAR STYLE 220 GSM WITH PRINTING | | Nos | 56 | ₹ 400.00 | ₹ 22,400.00 |
| 3 | ROYAL BLUE TSHIRT COLLAR STYLE 220 GSM WITH PRINTING | | Nos | 104 | ₹ 400.00 | ₹ 41,600.00 |
| 4 | WHITE TSHIRT COLLAR STYLE 220 GSM WITH PRINTING | | Nos | 8 | ₹ 400.00 | ₹ 3,200.00 |
| | | | | | | |
| | | | | | | |
| | | | | | Basic Amount | ₹ 79,200 |
| TERMS & CONDI | TIONS | | | D | ₹0 | |
| | | | | | ₹ 79,200 | |
| Payment Terms | 30 Days | | | | ₹ 0.00 | |
| : | 150 Days | | | | ₹ 3,960.00 | |
| | | | | | ₹ 0.00 | |
| | | | | | | |
| | | | | | GRAND TOTAL | ₹ 83,160 |
| Amount in words: | Rupees Eighty Three Thousand One H | undred Sixty Only | | | | |
| CDECIFIC TERMS | | | | | | |

| SPECIFIC TERMS & CONDITIONS | | | | | | | | | |
|---|-------------|---------------|--|--|--|--|--|--|--|
| Delivery Time: Immediate | | | | | | | | | |
| For The Irish House Food & Beverages Pvt. Ltd | | | | | | | | | |
| Prepared By - Purchase Executive | Approved By | Authorized By | | | | | | | |
| | | | | | | | | | |

The Irish House Food Beverages Pvt. Ltd.

1 Rashid Mansion, Worli Point, Mumbai 400018.

GENERAL TERMS & CONDITIONS:

Definitions

GOODS shall mean the materials, products or services to be purchased or to be supplied as specified in the PURCHASE ORDER and/or any part thereof.

PURCHASE ORDER shall mean the PURCHASE ORDER form, this document and any other document listed herein and shall constitute the entire agreement between the parties. SUPPLIER shall mean any person or company having a contract for the supply of GOODS to PURCHASER.

Price

The price along with other terms & conditions as mentioned in the above Purchase Order herein shall be binding to the seller.

Delivery Documents

The challan / Invoice should provide full particular of all articles with purchase order no. Obtain receivers signature and rubber stamp and attach copy of same with bill/invoices

Warranty

SUPPLIER warrants to PURCHASER and its clients that the GOODS shall comply in every respect with any specifications, drawings and other data forming part of the PURCHASE ORDER and shall be free of defective materials or workmanship and is complete without any omissions. SUPPLIER shall be fully responsible for making good immediately upon being notified by PURCHASER any omission and defects in the GOODS or any portion thereof which may appear or occur during the warranty period

SUPPLIER shall ensure that the warranty is directly extended to the PURCHASER and, at the PURCHASER's option, the PURCHASER may exercise any of the warranty herein directly against the manufacturer of the GOODS and its agents.

SUPPLIER's liability hereunder shall extend to all damages directly cause by the omissions or defects, including incidental damages such as removal, inspection, costs of return or storage. SUPPLIER shall not be liable for any indirect, remote or consequential losses.

License & Permit

If execution of the PURCHASE ORDER requires any license or other permit issued in the country of shipment and/or origin, the PURCHASE ORDER shall be conditional upon such license or other permit being available at the relevant time. SUPPLIER shall be fully responsible for obtaining the necessary license and permit.

Confidentiality

Any PURCHASE ORDER placed by the PURCHASER including all accompanying designs, drawings, specifications and information which may be treated as confidential and in particular the SUPPLIER shall not make use of the PURCHASER'S NAME or the name of any companies associated with the PURCHASER for publicity purposes without the consent of the PURCHASER.

Insurance

SUPPLIER shall effect and maintain at its own cost, all applicable insurances as required by law and to cover SUPPLIER's responsibilities and liabilities under the PURCHASE ORDER. Nothing contained herein shall serve in any way to limit or waive SUPPLIER's responsibilities or liabilities under the PURCHASE ORDER.

Safety

Where a service is being provided on property occupied by PURCHASER, SUPPLIER shall be responsible for the safety of all persons engaged on the work, and all persons who may be affected by activities of SUPPLIER and shall comply with all PURCHASER's safety regulations and procedures.

Waiver

Any waiver by PURCHASER to any breach of the PURCHASE ORDER shall not constitute a precedent nor bind the parties to any subsequent breach by SUPPLIER.

Force Majeure

Neither party shall be liable for any failure to fulfill any term of the PURCHASE ORDER if fulfillment has been delayed interfered with or prevented by force majeure. Force majeure may only be involved if the event preventing the fulfillment is due to no fault of the obligor, is not for his risk and has occurred since the obligation came into being.

Liability & Indemnity

SUPPLIER shall be responsible for and shall indemnify PURCHASER from and against all claims, proceedings, demands and causes of action in respect of any damage, loss or injury (including death) to any person or property arising out of SUPPLIER's negligence, acts or omissions, without regard to whether any negligence, act or omissions of PURCHASER contributed to such injury, death or property damage.

Payment

Payment will be effected within Thirty days (30) days after receipt of an undisputed invoice (together with supporting documents) by the PURCHASER provided always that the PURCHASER has accepted the GOODS, or as otherwise agreed and stipulated in the PURCHASE ORDER.

Change

PURCHASER reserves the right at any time to make changes in the PURCHASE ORDER or any part thereof.

No change to or modification of the items, specifications, terms, conditions and prices appearing in the PURCHASE ORDER shall be binding upon PURCHASER unless expressly agreed in writing by PURCHASER. SUPPLIER shall promptly notify PURCHASER in the event that any GOODS subject of the PURCHASE ORDER are affected by changes in drawings, specifications or design, but SUPPLIER shall not without prior written consent of PURCHASER incorporate any such changes in the order.

Acceptance

In the case of GOODS delivered by SUPPLIER not conforming with the PURCHASE ORDER whether by reason of not being of the quality or in the quantity or measurement stipulated or being unfit for the purpose for which they are required, PURCHASER shall have the right to reject such GOODS within a reasonable time of their delivery and inspection and to purchase elsewhere and to claim for any additional expense incurred without any prejudice to any other right which PURCHASER may have against SUPPLIER. The making of any prior payments by PURCHASER shall not prejudice PURCHASER'S right of rejection.

The Irish House Food Beverages Pvt. Ltd.

1 Rashid Mansion, Worli Point, Mumbai 400018.

Termination

In the event of any breach of any of the terms and conditions of the PURCHASE ORDER including failure to deliver by the due date, then PURCHASER without prejudice to any other rights, may terminate the PURCHASE ORDER and may return GOODS previously supplied under the PURCHASE ORDER for full credit by SUPPLIER. In the event of termination due to non-delivery or non-acceptance due to SUPPLIER's breach of the terms and conditions hereof, SUPPLIER shall undertake to reimburse all monies paid by PURCHASER prior to the date of termination including all direct costs and expenses incurred by PURCHASER arising from or in connection with the termination.

For The Irish House Food & Beverages Pvt Itd

Prepared By - Purchase Executive

Authorised By

| | | ! | Irish Hou | se / Mala | d- Uniform | 1 | | | | İ |
|-----------------------------------|---|--------------------|-----------|--------------|------------|----------------|------|----------------|---------|----|
| | | | arative S | | for PO Ap | proval | | | | İ |
| SR 불 Rahul Mens Ware Uniform Guru | | | | | | | | | | |
| NO | ITEM DESCRIPTION | Specific ations | иом | Quantit y | RATE | AMOUNT INR) | RATE | AMOUNT INR) | Remarks | |
| 4 | WHITE TSHIRT COLLAR STYLE 220 GSM WITH PRINTING | 1 | Nos | 30 | 450.00 | 13500 | 400 | 12000 | | 12 |
| 2 | GREEN TSHIRT COLLAR STYLE 220 GSM WITH PRINTING | | Nos | 56 | 450.00 | 25200 | 400 | 22400 | | |
| 3 | ROYAL BLUE TSHIRT COLLAR STYLE 220 GSM WITH PRINTING | | Nos | 104 | 450.00 | 46800 | 400 | 41600 | | |
| 1 | WHITE TSHIRT COLLAR STYLE 220 GSM WITH PRINTING | | Nos | 8 | 450.00 | 3600 | 400 | 3200 | | |
| | | | | | | | | | | |
| | Amount | | | | | 89,100.00 | | 79,200.00 | | |
| | Add: CGST@ 12% Add: CGST@ 5% | | | | | 4,455.00 | | 3,960.00 | | İ |
| 7 | Total Amount | | | | | 93,555.00 | | 83,160.00 | | İ |
| erms a | and Conditions | | | | | | | | | |
| | mendation | | | | | | | | | ĺ |

| SR NO | ITEM DESCRIPTION | Photo | UNIT | QTY. REQUIRED | VENDOR |
|----------|---|--|------|--|---------|
| 1 | Design White T-Shirt (Manager) STYLE 220 GSM WITH PRINTING | A data of the state of the stat | No | LARGE -16 | 425+gst |
| 2 | Design Green T-Shirt (Bar Tender) GREEN TSHIRT COLLAR STYLE 220 GSM WITH PRINTING | Contract the second sec | No | MEDIUM-20, LARGE-20, XL - 20 | 425+gst |
| 3 | Design Blue T- Shirt (Server)WHITE TSHIRT COLLAR STYLE 220 GSM WITH PRINTING | And The And Th | No | SMALL- 20, MEDIUM- 30, LARGE-30, XL -20, XXL -10 | 425+gst |
| 5 | SHOES CANVASS BLUE CHECKS | Sittle State of th | No | 5 NUMBER -7, 6 NUMBER-7, 7 NUMBER 7, 8 NUMBER -7, 9 NUMBER-10, 10 NUMBER -5 | 625+gst |
| | DENIM JEANS BLUE (LYCRA - STRETCHABLE) | | No | 28 NUMBER -20, 30 NUMBER-20, 32 NUMBER 20, 34 NUMBER -20, 36 NUMBER-20, 38 NUMBER -20 | 575+gst |
| 7 | NAME BADGES | Y E CALL ME | No | 50 | |

| 8 | BLACK T/ MATTY SERVICE APRON | | No | 50 | 210+gst |
|---|------------------------------|---------------------|----|----|----------|
| 9 | MANAGER BLUE BLAZER | Size as per fitting | No | 2 | 2850+gst |



RAHUL MENS WEAR

Contact :9820477315 R.C. Barrack No.25, Shep No.03 Bhaji Market,

Chembur Colony Mumbai 400074 M: perapada/6813gmalicon GSTIN:27AIFFF5649F1ZZ

Original for Receipions

| | | P | FRI | FOM | A INVO | DICE | | | | | | | |
|---|---|--------|--------|--------|-------------|---|---------------------------------------|---------------------------------------|---------------------|---------|-------------------|-------------|--|
| Perto | ma No : 2022-25/09 | • | | | | ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | Transport | | NA. | | | | |
| Performa Nate : 12-4-23 | | | | | | | | | | | | | |
| P.o.N.o.: | | | | | | | | Vehicle number: NA Date of Supply: | | | | | |
| | GOA | | | | | | | | | | | | |
| | | | Code | 400076 | Place of Su | bblis : y | EBF | | | | | | |
| | Bill to Farty | | | | | Ship to Farty | | | | | | | |
| GMR HOSPITALITY LIMITED (IRISH HOUSE) | | | | | | | GMR HOSPITALITY LIMITED (IRISH HOUSE) | | | | HOUSE) | | |
| ADDRESS: SY NO. MOPA PERNEM GOA, STREET NO MOPA LANDS | | | | | LARK MO | PA. | ADDRESS | : 5¥ 8 | O. MOPA | PERN | EM GO | A, STREET | |
| | ORT DSF8 C/O GMR GOA INTERNATIONA | LAIRP | DKTI | AMILTE | D PERNES | MI. | | | | | | CT DSF8 C/O | |
| NOR | TH GOA GOA -403512 | | | | | | | | | | | LIMITED | |
| | | | | | | | PERNEM | NORT | H GOA GO | DA -46 | 3512 | | |
| GST | N: 30AAJCG9402E1Z0 | | | | | | GSTIN: 30 | MAJC | C9402E1Z | D | | | |
| State | : GOA | | | | Code | 400027 | State: GO | ۸. | | | | Code | |
| Sr. | Freduct Description | HSN | Ob | Kate | Amount | | Taxable | | | | | Total | |
| No. | | cede | 40 | | | Discount | Value | | CGST | 5 | OST TEST | | |
| , | T-SHIRT WHITE (MANAGER) STYLE 220 GSM WITH PIPING | | 16 | 420 | 6,720 | | 6,720 | 2.5 | 168 | 2.5 | 168 | 7,056 | |
| | SIZE L/16 | | | | | | | | | | | | |
| , | TSHIRT GREEN (BAR TENDER) | | 60 | 420 | 25,200 | | 25,200 | 2.5 | 630 | 2.5 | 630 | 20,466 | |
| _ * | COLLAR STYLE 220 GSM WITH PIPING | | 00 | 420 | 25,200 | | 25,200 | 2.5 | 630 | 2.5 | 630 | 20,406 | |
| | SIZE M/20,L/20,XL/20 | | | | | | | | | | | | |
| , | T-SHIRT BLUE (SERVER) COLLAR STYLE 220 GSM WITH PIPING | | 110 | 420 | 46,200 | | 46,200 | 2.5 | 1,155 | 2.5 | 1,155 | 48,510 | |
| | SIZE S/20,M/30,L/30,XL/20,XXL/10 | | | | | | | | | | | | |
| | DENIM JEANS BLUE (LYCRA | | 120 | 600 | 72,000 | | 72,000 | 2.5 | 1,800 | 2.5 | 1,800 | 75,600 | |
| _ | STRETCHABLE) | | 120 | 600 | 72,000 | | 72,000 | 2.5 | 1,800 | 2.5 | 1,500 | 73,000 | |
| | SIZE 28/20,30/20,32/20,34/20,36/20,38/20 | | | | | | | | | | | | |
| | SERVICE APRON (BLACK MATTY) | | 50 | 175 | 8,750 | | 8,750 | 2.5 | 219 | 2.5 | 219 | 9,188 | |
| | MANAGER BLAZER BLUE | | 2 | 2,415 | 4,830 | | 4,830 | 6.0 | 290 | 6.0 | 290 | 5,410 | |
| | | | | | | | | | | | | | |
| _ | TOTAL | | 358 | | 1,63,700 | | 1,63,700 | | 4,262 | | 4,262 | 1,72,223 | |
| | | | | | | | | Add: (| Amount befo | ee Tax | | 1,63,700 | |
| | | | | | | | | _ | | | | | |
| | | | | | | | | Add: 5 | | | | 4,262 | |
| | | | | | | | | _ | Tax Amount | | | 8,523 | |
| _ | ONE LAKH SEVENTY TWO THOUSAND TO | PW HUN | DRLEID | AND T | MENTY TH | REE ON | LY | Total. | Amount after | Tan: | | 1,72,223 | |
| lan- | RAHUL MENS WEAR kalyan Sahakari Bank Lid. (CURRENT A/C) | | | | | | | CST | n Reverse C | barne | _ | - | |
| | A/C: 011011300002435 | | | | | | | 1071 0 | Cartified that they | | - | | |
| | IFSC: JSBL000011 | | | | | | | | | | MENS W | | |
| _ | a & conditions | | | | | | | | Per IL | | The second second | | |
| | ANCE 100% PAYMENT BEFORE DELIVERY | r | | | | | | 1 | Gnee | 28 | .,,, | lay | |
| | | | | | | ommon Se | mi | | Auri | horises | signator | TV . | |
| _ | | | | | | | | | - | | | | |



As discuss please find the attach requirement and send the Performa invoice in the name of GMR MOPA GOA.





























